RETAE =ALt ¥H cos 02

1. ROEMHEMET 0 ZRDL. 2770, 0°<0<180°. (SH30F, AFKS0%, BH 17208, C#H249)

(1) cosf = % (2)  cosf=0 (3)  cosf — _g
(4)  cosf=1 (5)  cosf = —% 6)  cosh — \/61- V2
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2. ROEMHEHET O BRDK. 2L, 0°<0<180°. (SH30F, A0, B 175208, CH27)

(1) cosf = % (2)  cosf=1 (3)  cos = _%
4 cosf=-1 (5)  cosf = —? (6)  cos = 7\f2 i
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R§TA+ ZAkk FEH cos 02 BERES

1. ROEMHEMET 0 ZRDL. 2770, 0°<0<180°. (SH30F, AFKS0%, BH 17208, C#H249)

* 15°, 75°, 90°DEA=ARZ O =X, Bl
(V6 —v2): (VB+v2):4

(1) cosf = % (2) cosf =0 (3) cosf = _g
0:600 02900 0:1500
(4)  cosf=1 (5) cosf = — L o V6+V2
V2 (6) cosf = 1

0:00 0=1350 0:150
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2. ROEMHEHET O BRDK. 2L, 0°<0<180°. (SH30F, A0, B 175208, CH27)

1 1
= — 2 0=1 - _=
(1)  cosf % (2)  cos (3)  cosf 5
0 = 45° 6 =0° 6 = 120°
@ cosf=-1 (5)  cosf = —? (6)  cosf = 7\f2 i
J— o
6 =180 6 = 150° & cos@:fi\/éz\/i
0 = 105°
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